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1. Which is the TUPAC name for the following structure?
G
H3C—-C|:—CH=CH2
CH;-CH;
a) 3,3-dimethyl-4-pentene b) 3-methyl-3-ethyl-1-butene
¢) isopropylpentene d) 3,3-dimethyl-1-pentene
2. Which structure is Z-2-bromo-3-methyl-2-pentene?
CH,
HC S H2CH; H /C'H—CHZCHg H3C CH; H;C Br
e=c] £=c c=c c=c’
Br CH, H Br B’ CH,CH; H,C” CH,CH,

a) b) c) d)

3. Which is the major product from acid catalyzed hydration of 2-methyl-2-pentene?
a) 2-methyl-3-pentanol b) 2-methyl-2-pentanol
¢) 4-methyl-2-pentanol d) 3-methyl-3-pentanol

4. What is the relationship between these two structures?

<+

Br Ci Br H
a) identical structures b) enantiomers
¢) diasterecomers d) constitutional isomers

5. Which compounds are primary halides?

o cw, CH, CHy
HsC—C—C_ H;C —C—Ci H3C —CH,—-CBr; FH,C —CH,~CH
I CH; CH, CIH3
1 I1 111 v
a) LI b)) LIV ¢ ILII d) IILIV

6. Which is the TUPAC name for the following structure?

L,

a) cyclohexenol b) 3-cyclohexen-1-ol
¢) l-cyclohexen-4-ol d) 4-cyclohexenol
7. Arrange the compounds in order of increasing acidity (least first).
a} LILILIV b) IILILIV,I ¢) LIVILII d) ILILIV,I

OH OH OH OH
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8. Arrange the following in order of increasing strength of the hydrogen bonds
(weakest first).

a LILILIV b) ILIV,I, III ¢ ILLIV,III d LIV, ILHI-
9. How many chiral ketones are there that have the molecular formula C¢H,;,0?
a) 1 b) 2 c) 3 d 4
10.  Which is the TUPAC name for the following compound?

0]
1 0O

_C I

HsC CH,-CH,-CH,-C—O0H
a) 5-oxohexanoic acid b) 2-oxohexanoic acid
¢) methyl butyroxo ketone d) 4-ketopentanoic acid
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11. The starting material that completes the following reaction is,

12.  The starting material that completes the following reaction is,

O
NaOH, H,0 H
—_—
13.  The starting material that completes the following reaction is,
HO OH
£ /\/\'/ (0]
H* (¢] \)

14.  The starting material needed to complete the following reaction is,

NH

2

Fe, HCI /@\
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